
PUZZLE OF THE WEEK 

 

 
You have a 3 Litre bucket and a 5 Litre bucket.  You need to measure out exactly 7 Litres.  How 
can you do it? 
 

 
        3 Litres             5 Litres 

 
 
Use the 5L bucket to measure out 5L.  Use the 3L to take away 3L from the 5L.  You now have 
2L.  Finally, use the 5L bucket to measure out another 5L and add that to the 2L.  You now have 
7L! 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Be sure to check the next newsletter to see the solution!  If you have questions about or 

suggestions for the puzzle of the week, let Ms. Rush know! 

 
Special thanks to funwithpuzzles.com for the puzzle 

SOLUTION 


